Sr Questions Answers Choice

A. High population growth potential
but low actual growth

B. High population growth potential
and high actual growth

. Partial industrialized economy

. Typically increasing urbanization

1 The present demographic transition of India is indicative of

. mongolia

. ukraine&nbsp;
bolivia

chad

2 Which of the following countries actually contains a peninsula that just into a sea or ocean?

south america&nbsp;
. europe&nbsp;

. africa&nbsp;

asia

3 The world's largest peninsula, at 1,250,000 square miles can be found in which continent?

valdes peninsula

. guajira peninsula

. tierra del fuego peninsula&nbsp;
. paria peninsula

4 What peninsula in argentina contains south america's lowest land elevation?

mexico

. guatemala

. honduras&nbsp;
panama

5 What country contains the azero peninsula, which borders the country's namesake gulf?

gaspe peninsula
door peninsula
olympic peninsula
ungava peninsula

6 Which of the following peninsula is located in one of the great lakes?

. arnhem land&nbsp;
eyre peninsula
cape york peninsula
yorke peninsula

7 Which australian peninsula is controlled by the state of Queensland?

accra
abidjan
dakar
lagos

8 What west african port city is located on a peninsula?

UAE
Qatar
Bahrain
Oman

9 Which of the following middle eastern countries is NOT located entirely on a peninsula?

. shandong peninsula
oshima peninsula

. leizhou peninsula

. liaodong peninsula

10 What chinese peninsula borders the bo hai and korea bay, and contains the city of dalian?
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